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M.COM-08 
Cost and Management Accounting/  

ykxr ,ao izcU/k ys[kkadu 

Master of Commerce (M.Com.-10/16)  

Second Year, Examination 2021 (Winter) 
 

Time: 2 Hours             Max. Marks: 80 
 

Note : This paper is of Eighty (80) marks divided into two 

(02) Sections A and B. Attempt the questions 

contained in these sections according to the detailed 

instructions given therein. 
 

uksV % ;g ç'ui= vLlh ¼80½ vadksa dk gS tks nks ¼02½ [k.Mksa] d 

rFkk [k esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr̀r 

funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA 
 
 

Section – A /[k.M&d 
 

(Long Answer – type questions) /¼nh?kZ mRrjksa okys ç'u½ 
 

Note:  Section 'A' contains Five (05) long-answer-type 

questions of Twenty (20) marks each. Learners are 

required to answer any two (02) questions only. 

      [2 x 20 = 40] 

P.T.O. 



504                                  2 
 

uksV %  [k.M ^d* esa ik¡p ¼05½ nh?kZ mRrjksa okys ç'u fn;s x;s gSa] 

çR;sd ç'u ds fy, chl ¼20½ vad fu/kkZfjr gSaA f'k{kkfFkZ;ksa 

dks buesa ls dsoy nks ¼02½ ç'uksa ds mRrj nsus gSaA 

 

Q.1. Cost accounting is becoming more and more relevant 

in the emerging economic scenario in India. 

Comment. 

 

Þykxr ys[kkadu Hkkjr esa mHkjrs vkfFkZd ifjn`'; esa 

vf/kd ls vf/kd izklafxd cu x;k gSAß fVIi.kh dhft,A 

 
 

Q.2. What do you understand by 'FIRST IN FIRST OUT' 

(FIFO) method ? Explain with imaginary illustration. 

 

Þigys vkuk ,ao igys tkukß i)fr ls vki D;k le>rs gS 

\ dkY;fud mnkgj.k }kjk le>kb,A 

 

 

Q.3. What is activity-based costing? What are its 

advantages and limitaions? 

 

fØ;k vk/kkfjr ykxr vadu D;k gS\ blds ykHk o lhek,¡¡ 

D;k gS \ 
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Q.4. A transport service company is running 4 buses 

between two towns which are 50 kms apart. Seating 

capacity of each bus is 40 passengers. The following 

particulars were obtained from their books for April 

2020:  

wages of Drivers and cleaners Rs.1400;  

wages of conductors RS.1000;  

Salaries of office staff Rs.1200;  

Diesel oil and other oils Rs.3800;  

Repairs and Maintenance Rs.900;  

Taxation and Insurance Rs.1500,  

Depreciation Rs.2600;  

Road License fee Rs.500;  

Interest and other charges Rs.1500. 

 Actual passengers carried were 75% of the seating 

capacity. All the four buses run on all day of the 

month. Each bus made one round trip per day. Find 

out the cost per passenger per km. 

,d ;krk;kr lsok dEiuh nks uxjksa ds chp tks ,d&nwljs 

ls 50fdeh- nwjh ij gS] 4 clsa pyk jgh gSA izR;sd cl esa 

cSBus dh {kerk 40 ;k=h gSA vizSy 2020 dk fuEu fooj.k 

mudh iqLrdksa ls fy;k x;k gSa% 

 

P.T.O. 
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Mkªboj o Dyhuj dh etnwjh 1]400 :0; 
d.MDVj dh etnwjh 1]000 :0; 
vkWfQl LVkQ dk osru 1]200 :0; 
Mhty o vU; vkW;y 3]800 :0; 
ejEer o vuqj{k.k 900 :0; 
dj o chek 1]500 :0; 
nzkl 2]600 :0; 
jksM+ ykblsal Qhl 500 :0; 
C;kt o vU; O;; 1]500 :0; 
izR;sd ys tk;s x;s ;kf=;ksa dh okLrfod la[;k cSBus dh 
{kerk dk 75 izfr'kr gSA lHkh pkj clsa ekg ds izR;sd 
fnu pyrh gSA izR;sd cl fnu ,d pDdj iwjk djrh gSA 
izfr ;k=h izfr fdeh0 ykxr Kkr dhft,A 
 
 

Q.5. A product passes through three processes of 

production. The output of preceding process is 

transferred to the next process. The output for the 

month is 100 ton and the following expenses were 

incurred: 

,d mRikn rhu izfØ;kvksa ls gksdj xqtjrk gSA fiNyh 

izfØ;k dk mRiknu vxyh izfØ;k esa gLrkUrfjr dj fn;k 

tkrk gSA ekg esa 100 Vu dk mRiknu fd;k x;k vkSj 

fuEu O;; fd;s x,% 
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  Process A Process B         Process C  

  izfØ;k A  izfØ;k B            izfØ;k C 

     :  :        :   

Material lkexzh  10]000  2]000        1]000 

Wages etnwjh  5]000  8]000        7]000 

Direct Expenses  3]000  1]000        2]000 

izR;{k etnwjh 

Total indirect expenses during the month of july 2020 

were Rs. 2000. Prepare Process Accounts. 

ekg tqykbZ 2020 esa dqy vizR;{k O;; 2]000 : gq,A 

izfØ;k [kkrs cukb,A 

 

Section – B / [k.M& [k 
 

(Short-answer-type questions) / y?kq mRrjksa okys ç'u 
 
Note:  Section 'B' contains Eight (08) short-answer-type 

questions of Ten (10) marks each. Learners are 

required to answer any Four (04) questions only. 

[4 x 10 = 40] 
 

uksV %  [k.M ^[k* esa vkB ¼08½ y?kq mRrjksa okys ç'u fn;s x;s gSa] 

çR;sd ç'u ds fy, nl ¼10½ vad fu/kkZfjr gSaA f'k{kkfFkZ;ksa 

dks buesa ls dsoy pkj ¼04½ ç'uksa ds mRrj nsus gSaA 

 
 

P.T.O. 
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Q.1. What is meant by under/over absorption of overheads? 

Explain. 

 mifj O;;ksa ds de@vf/kd vo'kks"k.k dk D;k vFk gS\ 

O;k[;k dhft,A 

 

Q.2.  "Job order costing method is a specific order costing 

method." Explain. 

 Þmidk;Z ykxr fof/k ,d fof'k"V vkns'k ykxr fof/k 

gSAßO;k[;k dhft,A 
 

Q.3. Explain the term 'Variance' and distinguish between 

controllable and uncontrollable variance. 

^fopj.k* 'kCn dh O;k[;k dhft,A fu;U=.kh; o 

vfu;U=.kh; fopj.k esa varj Li"V dhft,A 
 

Q.4. What do you understand by Zero base budgeting? 

Explain its advantages. 

'kwU; vk/kkj ctfVax ls vki D;k le>rs gS \ blds ykHkksa 

dh O;k[;k dhft,A 
 

Q.5.  What do you understand by analysis of financial 

statement? Discuss its objectives and limitations. 

 foÙkh; fooj.kksa ds fo'ys"k.k ls vki D;k le>rs gS\ blds 

mn~ns'; o lhekvksa dk o.kZu dhft,A 
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Q.6.  What is the importance of the calculation of return on 

capital employed? Explain. 

fofu;ksftr iw¡¡th ij izO;k; dh x.kuk dk D;k egRo gS\ 

O;k[;k dhft,A 
  

Q.7. What do you understand by Marginal costing? 

Describe its merits and demerits. 

lhekUr ykxr fof/k ls vki D;k le>rs gS\ blds 

xq.k&nks"kksa dk o.kZu dhft,A 
 

Q.8. Discuss the importance of Break Even Point analysis 

in Managerial decisions. 

le&foPNsn&fcUnq fo'ys"k.k dk izcU/kdh; fu.kZ;ksa esa egRo 

crkb,A 

 
&&&&&&&&&&&&&& 


